: K
Percentages: _a\ecO i\

e
* Percent m eV\RB’ i@d.. To express one quantity as a
pere&q\e&l g@gtﬂecp, first write the first quantity as a fraction of the
s&:ond and then multiply by 100.

 Profit=S.P.—C.P.

e Loss=C.P.—-S.P.

* Profit percentage = SPC_PCP x 100

* Loss percentage = CIZ._PSP x 100

* where CP = Cost price and SP = Selling price



Area and Perimeter:

a

a

a

Area = side X side
= gxd

\e.CO K
Figure Di@g(eﬁesoivl‘ Area Perimeter
Rectangle \ )-‘ A
P(e\,\e\“\l Qe 'X,B b Area=1/xb perimeter=2(1 + b)
[
Square a

perimeter = 4 x side
=4xaqa

Parallelogram

Area=b xh

Area =absinf
where a, b are sides and 8 is
the included angle

perimeter=2(a+b)




Surface Area and Volurfe:

. 5 \ Y
P A No"’e Q) , el = olasaiis
) O‘ se area + area of the shapes in 3
' the sides ' i
P(e\l perpendicular height
Cuboid
i L Surface area = 2(lb + bh + lh) Volume=1 X b X h
| h {
Cube
o Surface area = 61* Volume = [3
/4
2 _ 3
Hemisphere Curved surface area = =27 1 Volume = ;77"




Geometry
. o D

O
(a) A é@é'ﬁo (b) Angle at a point
ngles on a S ht line add up to 180°

X+y+z=180°

xyZ

The angles at a point add up to 360°.
a+b+c+d=360°




Similar Triangles:
N>

e Two T (@ Igs aé ’Q,En@;r if they satisfy one of the following three
cgﬁgltlons

i) The angles of one triangle are equal to the corresponding angles of the other triangle.

a\e C

A ABC is similar to A XYZ because La= /x; Zb=/yand Lc=/z



Midpoint / Length thaut‘ine segment
A NOtE 0
* Let A{ﬁg\wf‘)‘a{g@ 3,(@62,‘)/2) be two points, their

Midpoint = (leer yl;yz)

Length = \/(x2—x1)? + (y2—¥1)?




